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PART A

A half railway ticket of any class costs half
the full fare but the reservation charge is the
same on the half ticket as on the full ticket.
One reserved first class ticket for a journey
between two stations is T 362 ; and one full
fare and one half fare reserved first class
tickets cost T 554, The reservation charge is

(a) T 18

by 22
(¢) T38
(d) T 46

The average age of a husband and wife was
23 years when they were married 5 years ago.
The average age of the husband, wife and a
child who was born during the interval, is 20
years now. How old is the child now ?

{a) 1year
{(b) 2 years
(¢) 3 years

(d) 4 years

If x men working x hours a day can do x units
of work in x days, then y men working y hours
a day would be able to complete how many
units of work in y days 7

(a) X

by —

(©) =

@ L

_

(2-

4.

A)

A man standing on the platform observes a
train going in one direction takes 4 seconds to
pass him. Another train of same length going
in the opposite direction takes 5 seconds to
pass him. The time taken by the two trains to

cross each other will be
{a) 31/9 seconds
{b) 40/9 seconds
(e) 49/9 seconds
(d) 50/9 seconds

How many times will the digit 5 come in
counting from 1 to 99 excluding those which
are divisible by 37

(a) 13
(h) 14
{c) 15
(d 20

A man changes his car for a new one giving
20% meore km per litre. Just then the fuel
price is increased by 5%. If he drives the same
distance in a given period, what happens to
his fuel hill ?

(a) The bill stays tke same

(by  The bill goes down by 12:5%

(¢)  The bill goes down by 15%

{d) The bill goes up by 5%

40% of a Company’s employees are women.
Out of the men, 60% are of age more than
30 years. If there are 360 male employees

below the age of 30, what is the total number
of employees in the Company ?

(a) 1800
(b) 1500
{e) 1350
(dy 1200
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(d) 1200




8.  Two vehicles were sold at the same price with | 12,
20% and 25% profits respectively. If the total
cost price was T 1,96,000, what was the
difference between the cost prices of the two
vehicles ?
(a) & 4,000
(b) ¥ 6,000
(¢) T 8,000
(d) ¥ 10,000 13.
9. If P persons can do a piece of work in R days,
then in how many days can (P + Q) persons do
the same work ?
(a) L
PP+ Q)
{b) P
R(P + Q)
14.
(c) PR
P+Q
(d) QR
P+Q
10. What is the HCF of 0-51, 0-153 and 1-7 ?
(a) 00017
(by 0017
¢y 017
15.
(d} None of the above
11. The value of J2+ J3 —Jz-ﬁ is
CYRIN
(b) V3
© J2+J3
d V2
B-AYND-O-PAPA (4-A)

The variable x varies directly as y and varies
inversely as z. When x = 8, y = 12, then z = 3.
What isxwhen z=6 and y =247

(a) 2
by 4
(c) 8
(d) 12

P has 20% more money than @ and 10% less
money than R. If their total capital is T 5,300,
then which one of the following statements is
not correct ?

{a}) P and @'s total capital is T 3,300.
(b) @ and R’s total capital is T 3,500.
(¢) @ has 25% less money than R.

(d) R has 25% more money than Q.

The value of a piece of diamond is
proportional to the square of its weight. A
piece of diamond worth ¥ 1,00,000 is cut into
three pieces in the ratio of their weights
2 : 3 : 5. What is the total value of the three
pieces 7

(a) ¥ 38,000
(b} ¥ 48,000
(¢) ¥ 52,000
(d} ¥ 63,000

The numbers of rhinoceros, elephants and
deer in a sanctuary are in the ratio 5: 12 : 17.
If the difference between the number of
rhinoceros and the number of elephants is
divisible by both 5 and 7, what is the
minimum possible total number of the three
types of animals ?

(a) 1538
() 170
(¢} 187

(d) More informaticn is needed
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16.

17,

18.

19.

B-AYND-O-PAPA

An hour hand and 2 minute hand of a clock
are at right angles several times during their
motion. How many times are they at right
angles during their motion in a day from
12:00 noon to midnight ?

{a) 20
(by 12
{cy 11

(d) None of the above

If 8:20::14: X, then what is X equal to ?

(a) 35
(b} 30
() 28
(d) 20

In a certain cede, the word ‘RENOWNED' is
written as ‘DEENNORW’ How is
INFORMATION written in that code ?

(a) NONFIOIRAMT
(b)  AFIIMNNOORT
(¢} AFIMINNOORT

(d) AIFINMNOROT

What is the next term in the series of
numbers 1, 2,5, 12,29, ... ?

(a) 84
(b) 70
() 62
(dy 56

(6-

20.

21.

22.

23.

A)

In an examination, there were three subjects
namely Physies, Chemistry and Mathematics.
20% students failed in Physics, 22% students
failed in Chemistry and 16% students failed
in Mathematics. Then the total number of
students passing the whole examination must
lie between

{a) 42% and 78%

(b)  42% and 84%

(e} 35% and 65%

(d) 35% and 60%

What are the missing letters in the following
series of letters 7
bdabcdbdabcd_dabedb_abedbd_

(a) bed

{b) Dbda
{¢c) dbe
{(d) cda

If ‘South-East’ becomes North’, ‘North-East’
becomes ‘West' and so on, then what will
“West’ become ?

(a) North-East
(b}  North-West
(c)  South-East
(d)  South-West

If a two-digit number is K times the sum of its
digits, then the number formed by
interchanging the digits is how many times
the sum of the digits ?

(a) 9+K
(by 10-K
(¢) 11-K
(d}f K-1
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24. What is the missing number X' in the | 27.

following ?

10 4 5
16 1109| 7 16 {109 7 14 |108( X

6 5 4
(a) 10
(b) 8
&) 7
(d 6

»

25. Which one of the following coded diagrams | 28.

illustrates the relationship among
‘Languages’, ‘Hindi’ and ‘English’ ?

o @O
Q.

(b) 29.

'26. There are 6 points on a plane, out of which
3 points are collinear. How many triangles
can be formed by joining them ?

(a) 18
by 19
(¢ 20
d)y 27

B-AYND-O-PAPA (8-A)

What is the minimum number of colours
required to fill the spaces in the following
diagram without the adjacent cells having the
same colour ?

glas

(a) 3
by 4
() 5
(dy 6

What is the missing term in the following

sequence ?

ACH, FAL, JYK, MWN, __
(a) PVS

(b) OUR

{) PTQ

(dy OTS

If ‘ MANGQ' = 50 and ‘ORANGE’ = 60, then
what is the value of ‘PINEAPPLE’ ?

(a) 84
{(bY 85
¢y 90
d) 94

A figure carryirg certain digits is given.
Assuming that the digits in each row follow a
similar pattern, the missing digits X and Y
respectively are

1 3 4
2 4 6 Y
(a) 16,8
th) 49,7
() 36,4
dy 25,5
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fafafes 4 gw gem X w2 2
10 4 5
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(a) 10

(b} 8
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(d 8
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(a) 16,8
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{c} 36,4
(d) 25,5




31. Consider the following statements : 3s.
i.  River Pennar originates in Karnataka
and flows through Andhra Pradesh.
2. River Vamsadhara originates in Andhra
Pradesh and flows through Odisha.
Which of the above statements is/are correct ?
{a}) 1only
(b) Z2only 37.
(¢) Both1and?2
(d) Neither 1 nor 2
32. Which one of the following cities is
geographically the nearest to Port Blair ?
(a) Kolkata
(b  Kuala Lumpur
(c)  Singapore
(d) Yangon
33. The Changthang region of India is well known
for the production of 38.
(a) Bamboo handicrafts
(b)Y Cotton textiles
(¢) Pashmina wool
{d}) Tea
34. In which one of the following regions are the
countries Kyrgyzstan and Uzbekistan | 39-
located 7
{a) Central Asia
(b) Middle East
(¢}  North Africa
{d} South Asia
35. Which one of the following National Highways
has its terminals in Tamil Nadu and Odisha ?
(a) NH4
(b NHS5
(¢ NH&6
(d) NH?7
B-AYND-O-PAPA (10-A)

Which one of the following is considered a
greenhouse gas in the context of global
warming ?

(a} Carbon monoxide

(b) Carbon dioxide

(¢) Hydrogen

(d) Oxygen

~ Consider the following animals :

1. Jaguar
2. Salt water crocodile
3.  Snow leopard

Which of the above is/are naturally found in
India ?

(a) 1and2only

(b) 3only
(¢} 2and3only
(d) 1,2and3

Which one of the following has the longest
coastline ?

(a) Andhra Pradesh
(b)  Gujarat

(e} Maharashtra
(d) Tamil Nadu

Consider the following pairs :

Hills Located in
1.  Garohills ~—  Meghalaya
2.  Mikir hills — Assam
3. Kaimur hills — Sikkim

Which of the pairs given above is/are correctly
matched ?

(a) 1and2only

(b} 3Jonly
(¢) 2and3only
(d) 1,2and3
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40. Consider the following pairs : 42,
National Parks Located in
1. Great Himalayan — Himachal Pradesh
National Park
2. Hemis High Altitude — Jammu & Kashmir
National Park
3. Valley of Flowers — Uttarakhand
National Park 43.
Which of the pairs given above is/are correctly
matched ?
(a) 1land?2only
(b} 3only
(¢) Z2and3only 44,
(dy 1,2and3
41. Consider the following statements :
1. Only a member of the Rajya Sabha can
be made the Chairman of the Rajya | 45.
Sabha.
2. Only a member of the Lok Sabha can be
made a Cabinet Minister.
Which of the statements given above is/are
correct ?
(a) lomly
{(b) 2only
{(c) Bothland2
(d) Neither 1 nor 2
B-AYND-O-PAPA (12-A)

Which one of the following is the highest
decision-making authority in India on
development matters 7

{a) Union Cabinet
(b) Prime Minister’s Office
(¢} National Development Counecil

{(d) None of the above

The Panchayati Raj is a
(a) Two-tier system
(b) Three-tier system
(¢) Four-tier system

(d) Five-tier system

How many women Lok Sabha Speakers has
India had so far ?

(a) 1
(by 2
(¢ 3
d 4

Consider the following statements :

1. The Judges of High Courts are
appointed by the Governor of the State
concerned.

2. The Speaker of the State Assembly is
appointed by the Chief Minister of the
State concerned.

Which of the statements given above is/are
correct ?

(a) 1only

(b) 2only

(¢) Bothland2
(d) Neither 1 nor 2
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46.

47.

(b) Fish

(¢) Rice

(d Soyabean i
48. Consider the following snakes :

1.  Common Krait

2. Russell’s Viper

3. Rock Python 52.

Which of the above is/are poisonous snakes ?

(a) 1and?2only

(b) 3only

{c) 2and3only

(d) 1,2and3
B-AYND-O-PAPA (14-A)

Consider the following statements :

1.  The darker the skin, the more sunlight
one needs to get the same amount of
vitamin D as a fair-skinned person.

2. Sunscreen covered skin does not help in
vitamin D synthesis even if exposed to
sunlight.

Which of the above statements is/are correct ?

(a) 1only

(b) Z2only

(¢ Bothland2
(d) Neither 1 nor2

Which one among the following is the poorest
source of proteins as compared to the other
three ?

(a) Black gram

49.

50.

Consider the following statements :

1.  Buckingham Canal runs parallel to the
east coast of India.

2. Indira Gandhi Canal runs parallel to
the west coast of India.

Which of the statements given above is/are
correct ?

{a)
(b) 2 only

(¢} Bothland?2
(d)

1 only

Neither 1 nor 2

The Nobel Peace Prize winner (2014) from
India is a/an

(a) Environmentalist
(b) Economist

(e}  Rights activist
(d)

Writer and theatre artist

The Bharat Ratna was conferred in
February, 2014 on

(a) A journalist and a sportsman

{(b) A scientist and a sportsman

(e) A scientist and a social activist

{d) A journalist and an educationist

Which one of the following is the oldest
language with well known literary works ?

(a) Bengali

(b) Hindi

(¢} Tamil

(d) Urdu
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Which one of the following is a major producer
of both coffee and iron ore ?

(a) Assam

(b} Chhattisgarh
(¢} Gujarat

(d) Karnataka

Mercury is emitted as a pollutant hy
(g} Coal based power plants

(b}  Cold storage facilities

(¢} Sugar, paper and jute mills
(d)

Wineries

Integrated Test Range, where missiles are
tested, is located at

(a) Bengaluru
(b) Chandipur
{¢) Sriharikota

{d) Thiruvananthapuram

Who of the following is associated with the
design of our National Flag ?

{a) Pingali Venkayya
(b} Potti Sreeramulu
() Tanguturi Prakasam Pantulu

(d) Veeresalingam Pantulu

National Song of India was composed by
(a)  Aurobindo Ghosh

(b} Bankim Chandra Chatterjee

(¢)  Keshub Chandra Sen

(d) Rabindranath Tagore

58.

59.

60.

(16 -A)

With reference to the Union (Government,
consider the following statements :

1. Members of the Election Commission
are appointed by the Chief Election
Commissioner.

2. The Finance Commission is conatituted

by the President of India.

Which of the above statements is/are correct ?
{a) 1lonly

(k) 2 only

(¢) Bothland2

(d) Neither 1 nor 2

Which one of the following is-used for fruit
ripening though it is considered very harmful
tous ?

{(a) Calcium carbide
{b) Calcium carbonate
(¢} Sodium benzoate

(d) Sodium bicarbonate

When one is very obese, if it is mostly around
the stomach than around the hips and
buttocks, one is most likely at the risk of

1.  Diabetes
2. High Blood Pressure

3. Osteoarthritis

Select the correct answer using the code given
below :

(a} 1and 2only
(b) 3only
{c} 2and3only

{(d} 1,2and3
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61. Who of the following is popularly known as | g5.
Punjab Kesari ?
{a) Bhagat Singh
{b) Kartar Singh Sarabha
(¢) Lala Lajpat Rai
(d) Madan Lal Dhingra
62, Chauri Chaura incident is associated with the
suspension of
(a) Bardoli Satyagraha
(b)  Civil Disobedience Movement
{¢) Non-Cooperation Movement
66.
(d)  Quit India Movement
63. The Surat Session of the Indian National
Congress in 1907 is well known for
{a) Launch of Swadeshi and Boycott
Movement
. . 67.
(b) Separation of Congressmen into
moderates and extremists
(¢) The joint session of Indian National
Congress and Muslim League
(d) Launch of Home Rule Movement
64. Who of the following is known as the Iron
Man of India ? 68,
{a) Bal Gangadhar Tilak
(b)  Bipin Chandra Pal
(¢) Gopal Krishna Gokhale
(d) Vallabhbhai Patel
B-AYND-O-PAPA (18-A)

Consider the following statements :
Annie Besant is associated with the
1.  establishment of Central Hindu College.
2. launch of Home Rule League.

3. launch of Quit India Movement.
Which of the statements given above is/are
correct 7

(a) 1and 2only

{b) 3only
(¢} 2and3only
(d) 1,2and3 ‘

Dandi March is associated with

(a) Civil Disobedience Movement

(b) Non-Cooperation Movement
()  Quit India Movement
{d) Swadeshi and Boycott Movement

Who of the following was the President of the

Constituent Assembly ?
(a) B.R. Ambedkar
(b) Jawaharlal Nehru
(¢) Rajendra Prasad

(d) Vallabhbhai Patel

‘RuPay’ is the name of a

{a) Debit Card

(b}  Digital Currency

(e) Pension Scheme

(d) Post Office Savings Scheme
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(19-A)
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69. With reference to Indian Defence, what is | 73,
Nirbhay ?
ta) A pilot-less aircraft
(b} A nuclear submarine
(¢) Aradar system
(d) A cruise missile
70. Recently, there was a proposal to reintroduce
an animal in India which became extinct in
this country several decades ago. Which one of
the following is the animal in question 7
{a) Cheetah T
(th)  Clouded leopard
(¢)  Double-humped camel
(d) Musk deer
71. A place called Mawsynram in India is well
known for
{a) Pre-historic cave paintings
{b) Richest uranium deposits in the world
(¢} Highest rainfall in India 5.
(d)  Production of geothermal energy
72. Consider the following places :
1. Ratnagiri
2. Sundarbans
Which of the above places is/are known for
its/their mangroves ?
{a) 1only
(b) 2only
(¢} Bothland?2
(d) Neither 1 nor 2
B-AYND-O-PAPA (20-A)

Which of the following is the richest source of
Vitamin C ?

(a) Fish

{(b) Guava
(c) Milk

(d) Yoghurt

How many States ‘n India have a common
border with Myanmar ?

(a) 2
by 3
(c) 4
d 5

Consider the following diseases noticed in
India:

1. Dengue haemorrhagic fever
2. Japanese encephalitis

3. Tuberculosis

The causative organism of which of the above
is a virus ?

(a) 1and?Z2only
(b) 3only
(¢) 2and3only

(dy 1,2and3
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77.

78.
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PART B

Under Section 93 of the CrPC 1973, a search
warrant can be issued by

(a)
{4)

any Court

any Magistrate

{c)  Officer in-charge of the Police Station
{d)  All of the above

A Police Officer may without a warrant or
order of a Magistrate, arrest any person

(a) who commits a cognizable offence in the

presence of the Police Officer

(b who is a proclaimed offender

(¢} who is reasonably suspected of being a
deserter from any of the Armed Forces
of the Union

{d} All of the above

An unlawful assembly or any assembly of five
or more persons likely to cause a disturbance
of the public peace may be commanded to
disperse by

{a) any Judicial or Metropolitan Magistrate

(b) any Judicial, Metropolitan or Executive

Magistrate
(¢)  any Police Officer

(d) any Executive Magistrate or Officer
in-charge of a Police Station or any
Police Officer not below the rank of a

Sub-Inspector

79.

80.

Bl1.

82.

(22-A)

Under Section 164 of the CrPC, a confession
can be recorded by

(a)
{(b)
(¢) anydJudicial or Metropolitan Magistrate

(d) that Judicial or Metropolitan
Magistrate only who has jurisdiction in
the case

Judicial Magistrate only
Metropolitan Magistrate only

When a person is arrested and detained in
police custody, and it appears that the
investigation cannot be completed within
24 hours, the maximum period for which the
accused can be remanded to police custody is

(a)
(b)
(c)
(d)

7 days

15 days
60 days
90 days

A person who has once been tried for an
offence shall not be liable to be tried again for
the same offence. This is incorporated in
which one of the following Sections of the
CrPC?

(a) Section 164
(b) Section 255
(¢) Section 300
(d) Section 319

In criminal trials, whenever the accused seeks
the benefit of any exception, the onus iz on
him to prove the applicability of such
exception

(a)
(b)
{¢) beyond reasonable doubt

(d)

to the satisfaction of the Judge

on a preponderance of probability

None of the above
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83. Presumption as to abetment of suicide by a | g
married woman within a period of seven years
from the date of her marriage can be raised
under which one of the Sections of the Indian
Evidence Act, 18727
(a) Section 113
{b) Section 113 A
(¢) Section 113 B
(d) Section 114 A
84. Contents of a document can be proved by 88
(a) primary or secondary evidence
(b) examining a witness who has not seen
the document

(¢) taking extraneous evidence into
consideration

(d) without any evidence

85. When a victim making a dying declaration
survives, the said dying declaration 89.
{a) does not remain relevant
(b) does remain relevant
(¢) may remain relevant at the discretion of

the Court
(d) may remain relevant at the discretion of
the accused person

86. The Chairman and Members of the National
Human Rights Coramission are appointed by | 90
the
fa) Central Government
(b}  Prime Minister in consultation with the

Committee prescribed for this purpose
{(¢) President in consultation with the
Committee prescribed for this purpose
(d)  Chief Justice of India
B-AYND-O-PAPA (24 -A)

International Bill of Rights is said to consist
of

(a) Universal Declaration of Human Rights

(b) International Covenant on Civil and
Political Rights

(¢) Internmational Covenant on Economic,
Social and Cultural Rights

(d) All of the akove

What is the status of European Commission of
Human Rights at present ?

(a) It has been abolished and does not exist
(b} It exists and has investigative powers

(¢) It exists but its working has been
suspended at present

(d) It exists but has no power to investigate

As per the Employees Provident Fund Act,
‘Basic Wages’ includes

(a) Emoluments which are earned by an
employee

{(b) Dearness Allowance
(c) Both (a) and {(b)

(d) Neither (a) nor (b)

An amount due from an employer under
settlement or award can be recovered by the
workmen by following the procedure laid
down in

(a} The Standing Orders
{b) Payment of Wages Act, Section 15
(¢ Minimum Wages Act

(d} Industrial Disputes Act, Section 33(C)
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91,

93.

Prior intimation to the appropriate
Government for lay-off, retrenchment or
closure of an establishment is required under
the Industrial Disputes Act, 1947 where there
are at least

{a} 50 workmen
(b) 100 workmen
(¢} 500 workmen
{d) 1000 workmen

Consider the following statements

1. Any private person may arrest or cause
to be arrested any person who in his
presence commits a non-bailable and
cognizable offence.

2. A Police Officer cannot arrest a person
without a warrant.

Which of the above statements is/are correct ?
(a) 1only

(b) 2 only

(¢) Bothland?2

(d) Neither 1 nor 2

In cases of dishonest misappropriation of
property, the initial possession of the property
is

(a) Dishonest
(b}  Fraudulent
(¢) Innocent
(d)  Forceful

Making preparation of which one of the
following offences is punishable ?

(a) Dacoity
(b) Theft

{c} Robbery
(d) Mischief

(26 -

95.

97.

A)

If a person promotes enmity between different
groups on grounds of religion, language or
caste

(@) it is an offence under Section 153(A)
IPC

(b}  itis an offence under Section 121 IPC

(c) itis an offence under Section 122 IPC

(d) itis not a punishable offence

Which one of the following is not essential to
attract the provisions of Section 149 of the
Indian Penal Code ?

(a)  Any member of unlawful assembly may
commit an offence

(b)  Offence is committed after pre-meeting
of minds

(¢)  Offence is committed in prosecution of
common object of the unlawful assembly

(d)  Unlawful assembly conaists of five or
more than five persons having common

object enumerated under Section 141 of
the Indian Penal Code

By Criminal Laws (Amendment) Act, 2013,
which one of the following sections of the
Indian Penal Code has not been amended ?
(a) Section 100

(b)  Section 509 A

{c) Section 354 A

(d) Section 375

Consider the following statements :

1. CrPC (1973) does not extend to the
State of Jammu and Kashmir.

2. Certain provisions of CrPC (1973) shall
not apply to the State of Nagaland

without notification of the State
Government.
Which of the above statements is/are correct ?
(a) 1lonly
(b) 2only

{c) Both1land?
{(d) Neither 1 nor?2
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‘A’ introduces water into an ice-house
belonging to Z and thus causes the ice to melt,
intending wrongful loss to Z. ‘A’ has
committed the offence of

(a}  Dishonesty causing loss

(b)  Cheating
{¢)  Rioting
(d} Mischief

Under the Industrial Disputes Act, 1947,
‘Lay-off’ means

(a) Termination of workman from the
employment

(b) Permanent closing down of a place of
employment

(¢}  Failure, refusal or inability of an
employer to give employment to a
workman

(d) Temporary closing of a place of
employment

The superintendence of the CISF rests with
the

(a) State Government where CISF is
deployed

{(b)  Ministry of Home Affairs

{e)  Central Government

(d)  Director General

Consider the following statements in respect

of the members of the CISF :

1. To promptly obey and execute all orders
lawfully issued to him by his superior
authority.

2. To protect and safeguard the Industrial
Undertaking owned by the Central
Government.

3. To protect and safeguard the employees
of the Industrial Undertaking.

Which of the above are the duties of the
members of the Force ?

(a) 1and2oenly
(b) 2 and 3 only
()  1and3only
(d 1,2and3

(28—

1038. Which of the following is/are the powers of a

104.

105.

A)

member of the Force under the CISF Act ?
1. To arrest and search without a warrant
2. To confine a person

Select the correct answer using the code given
below :

{a) 1only

(b) 2 only

(c} Both1land?2

(d) Neither 1 nor 2

Consider the following statements :

1. DG CISF may, subject to confirmation
by the Central Government, grant local
rank upto the rank of Commandant.

2. DG CISF may grant local rank up to the
level of DIG and above after prior
approval of the Central Government.

3. DG CISF can delegate power of
granting local rank to Special DG.
Which of the above statements is/are correct ?

(a) 1only

(b) 2only

{¢) land2

(d) 1land3

A CISF constable from an Industrial

Undertaking in city ‘X’, was found drunk
during Election Duty in the State ‘A’. The
Commandant  in-charge of  Elections
suspended him and asked the Commandant of
Industrial Undertaking in city X to
undertake disciplinary proceedings who
refused saying that he has no jurisdiction.

Consider the following statements :
1. Commandant Election in-charge was
correct,

2. Commandant Industrial Undertaking in
city X’ was not correct.

Which of the above statements is/are correct ?
(a) 1only

(b)
(e)
(d)

2 only
Both 1 and 2
Neither 1 nor 2
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108. Which one of the following is not a major
penalty in the CISF Rules ?

107.

108.

B-AYND-O-PAPA

(a)
(b)
{¢c)

(d)

Dismissal from service
Withholding promotion
Removal from service

Compulsory retirement

Petty punishments are ordinarily awarded in

(a)

{c)

{d)

Chamber of Commandant during

inspection
Orderly Room
Parade Ground

During Quarter Guard visit by the Head
of Unit

Consider the following :

1.

Reduction to a lower stage in the time
scale of pay for the period not exceeding
3 years with cumulative effect.

Withholding of increment of pay.

Which of the above is/are a major penalty

under CISF Rules ?
(a)  1lonly

tby  2only

{c} Both1and?2
(d} Neither 1 nor 2

109. An appeal against an order of the disciplinary
authority should be filed within a period of

110,

(30-A)

(a)

(c)

(d}

30 days from the date on which the
appellant received the copy of the order

45 days from the date on which the
appellant received the copy of the order

30 days from the date when the order is

passed

There is no time limit for filing appeals

In an encounter a Commando receives
gunshot injury and is seriously injured. Which
of the actions is/are not correct ?

1.

Apply Quick Clot above the wound to
stop bleeding. If bleeding continues, tie

a tourniquet above the wound.

Call Unit Headquarters Commandant
and ask for ambulance or any vehicle at

the nearest road head.

Stop the operation to take the injured
Commando to the Unit.

Select the correct answer using the code given
below :

(a)

(b}

{c)

(d)

1 and 2 only
2 and 3 only
1 and 3 only

3 only
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a Commandant receives

During night,
information that a dead body of a person
killed by insurgents is lying 400 to 500 m
from the Camp. What is not to be done ?

(a) Immediately rush with a small party to

go and collect the body

(b)  No need to move in the night to collect

an unknown dead body

(¢) Wait for morning, inform local police

and help them to collect the body

(d) Wait for morning and take help of

villagers to collect the body

During the outbreak of fire in a Unit, which
one of the follewing should not be done ?

(a} Reach the spot
sufficient manpower

immedijately with

{b)  Rescue the persons caught in the fire
{c)  Stop the fire from spreading
(d) Inform the local police and move only

after they arrive

During Natural Disasters, what is the role of
the Force 7

1.  Saving lives of people
2. Distribution of relief

3. Maintaining law and order

Select the correct answer using the code given
below :

(a) 1and2only
(b) 2and 3 only
{¢) 1and3only
(d 1,2and3

(32—

114.

115,

116.

A)

Which of the following are the duties of the
Static Force deployed at a Polling Booth
during elections ?

1. Getting the voters to forin a proper
queue

2. Maintain peace in the Polling Booth

3.  Maintain security of the Ballot Boxes

Select the correct answer using the code given
below :

fa} 1and2only
(b} 2 and 3 only
(¢t 1and3only
{(d) 1,2and3

Which of the following are to be done by the
Security Forces deployed for Election duty ?

1. Attention should be given to the
security of the candidates
Maintain security of firearms

Ensure law and order around the

Polling Booth

Select the correct answer using the code given
below :

{a) 1and 2 only
(b} 2 and3only
(¢) 1land3only
(d) 1,2and3

A Multi-Zone DFMD is used for detecting

(a) all explosive substances

(b) all explosive substances except liquid
explosives
(c) metal objects when signal exceeds

alarm threshold

(d) None of the above
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The speed of the conveyer belt of a passenger
X-BIS is generally between

(a) 02to0-3m/s

(b) 20to30mfs

(¢} 30to40mss

(d) 10to12m/s

What is the accepted Radiation Level at a
distance of 5 e¢m from external housing of
Passenger X-Ray Baggage Screening System ?

(a) 0-1 mR/hr
(b) 0-5 mR/hr
(c) 20mR/r
(d) 50 mR/r

While sanitizing an area, which equipment is
used for real time detection of semi-conductor
devices ?

{a) Telescopic Manipulator

{(b) Remotely Operated Vehicle (ROV)
(¢}  Explosive Trace Detector (ETD)
(d)

Non-Linear Junction Detector (NLJD)

Well Trained Sniffer Dogs are very good at
detecting explosives. But they are not fully
replacing the other Explosive Detection
Technologies because

(a)  Sniffer Dogs are very expensive

(b) They get tired very soon

(¢) Their detection capabilities are not
standardised

(d) Good Dog Handlers are not available

(34—
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A)

Which one of the following is not a BDDS
(Bomb Disposal and Detection Squad)
equipment ?

(a) NLJD

(b) HHMD

(c) Portable X-Ray Machine
(d) Hydraulic Bollard

A Threat Containment Vehicle (TCV) is used
for

(a) Patrolling  Perimeter Roads in

Hypersensitive Airports
(b)

{e)

Transport of Arms and Ammunition

Removing items

explogives

suspected to be

{d) Movement of Troops in Maoist infested

areas

Which one of the following units is most
vulnerable to Espionzge Activities ?

(a} Airports

(b}  Oil Installations

(c)  Steel Plant in Maoist infested areas
(d} DAE Unit

You are posted in a Unit prone to Espionage
Activity. Which one of the following aspects
will you lay most stress on ?

(a)
(b}

Access Control Measures

Verification of character and
antecedents of all employees including
contractual workers

(e)
(d)

Watching union activities

Strengthening physical security
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Who is the appropriate Authority for Civil
Aviation Security in India ?

(a)

Director General, Civil Aviation

(b) Commissioner, BCAS
(¢)  Secretary, Ministry of Civil Aviation
(d)  Director General, CISF

Which one of the following CCS Conduct
Rules, 1964, deals with sexual harassment of
working women ?

(a) Rulel3A
(b) Rule3C
(¢} Rule20
(d) Rule21

Universal Declaration of Human Rights was
proclaimed by

(a) Parliament of India

(b}  UN General Assembly

(¢) Supreme Court of India

(d) National Human Rights Commission

What is a dirty bomb ?

{a} It was the plastic explosive attempted to
be used by Al-Qaeda to blow up a
North-West Airlines plane on Christmas
Day, 2009,

(b) It is a Radiological Dispersal Device
(RDD).

{¢) It is a name for an explosive device
fitted with a timer.

(d) None of the above

129. The Advance Passenger Information about

130.

(36-A)

_

passengers and crew on board is provided by
Airlines to Immigration Authorities at Port of

landing

{a) as soon as aircraft lands at the airport

(b}  within 15 minutes of taking off from

port of embarkation outside India

(c}  within 24 hours of landing

{d) as and when the passengers beok their

flight tickets

What is ‘Secure Freight’ Programme ?

() It is a regulation framed by BCAS for

Cargo Security.

(b) 1t is an JATA programme for Air Cargo

Supply Chain Security.

(¢} It is the rules framed by Ministry of

Civil Aviation for Cargo Security.

(d) None of the above
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In a CCTV camera, which one of the following

is used as Image Sensor ?

(a} CCD/CMOS

{b} Navicon

(¢) - Transistor

(d) Any of the above

The Seismic Zonation Map of India was
published by

(a)  Geological Survey of India

(b) National Disaster Management
Authority

(¢}  Bureau of Indian Standards

(d) Survey of India

India is divided into how many Seismic

Zones ?
(a) 8
(b) 8
(e} 4
d 3

(38—

134.

135.

136.

137.

A)

131.

Which one of the following areas in India falls
under Seismic Zone V ?

{a} Maharashtra

(bY Gujarat

()  North-Eastern States
(d}) National Capital Region

Which one of the following is the measure for
the intensity of earthquakes ?

{a} Mohs Scale

(b)  Richter Scale

()  Seismic Scale

(d) None of the above

Constitution of Force is defined in CISF Act,
1968 under

(a) Section-3

(b}  Section-4

(¢) Section-5

(d)

Section-6

A member of the CISF can proceed on
voluntary retirement after completion of

(a) 10 years of qual:fying service

(b} 20 years of service
(c) 20 years of qualifying service
{(d) 33 years of service
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138. No member of the CISF shall ordinarily be | 147,
kept on prebation for more than

(a) 2years
(b) 3 years
{(c) 4years

(d) None of the above

139. Under which Section of the CISF Act is a | 142
Member of Force empowered to search
without warrant ?

(a) Section-10
(b} Section-11
{(c) Section-12

(d) Section-13

140. Who is empowered to place under suspension | 143,
any enrolled member of the CISF ?

(a) Deputy Commandant
(b} Commandant

(¢} Not below the rank of DIG

(d) Any Gazetted Officer

B-AYND-O-PAPA (40-A)

_

Who is the sanctioning authority for
withdrawal from GPF for enrolled member of
the CISF ?

(a) Head of Office

(b) DG

(¢} Zonal DIG

(d) Sector IG

. Which Section of the CISF Act deals with

legal protection to a Member of Force in
certain cases 7

(a)  Section-19

(b} Section-20

{c}) Section-21

(d) Section-22

The arithmetic and logic operations are
performed in

{(a) Hard disk

(b)  Memory
(¢} CD-ROM

(d} CPU




138.

139.

140.

B-AYND-O-PAPA

CISF % freft agen =i afiden v gmma dht o
e & afis omfa & fom aff @ =
el 7

(a) 299
(b) 3

499
394 H ¥ B

{c)

(d)

CISF stfufiam & |98 yra & 33 50 =
HE dew foar anve & oot w0 % fou
T & ?

fa) HR-10
(b) HM-11
(¢} H-12
(d) HW-13

CISF & wef fope) oee =l foma 4 @ &
fore =\ |k B 7

(a) 39 HHRT
(b) .HHIE<
(¢) DIG® T B =7 % 781

(d) w3 ot TomfEe e

141.

142,

143'

(41-A)

CISF & wff weea g GPF ¥ fprdh & fom
wipfoem MR S § 2

(a) AT FT IIH
b) DG

(¢) WA DIG

(d) HIX IG
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I % Tl & fIftw FEm F R T g 2

(a) ©WI-19
(b) YN-20
(c) HmW-21

(d)y HYnr-22

'&ﬁ'ﬁ%?

(a) 31?5‘%{25
by "

(¢} CD-ROM

(dy CPU
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144. Memory storage is called volatile, if data | 147,
stored are lost when power is turned off, Such
a4 MEemory is
(a) ROM
(b) RAM
¢y PROM
{dy EAPROM
148,
145. You can connect your computer to the
Internet by connecting it to a
{a) Telephone line
(b) Modem
{¢} Telephone line via modem 149,
(d}  Nomne of the above
146. After entering 10+20+40 in a cell Cl of a
spreadsheet program (say MS Excel), if you
press the enter key, which one of the following
1s displayed in the cell C1 ?
150,
(a) 70
(b) 10+20+40
(C) =70
(d) Nothing
B-AYND-O-PAPA (42-A)

Which one of the following memories is known
as permanent stores ?

(a) RAM

(b} ROM

(¢ Cache Memory

(d)  Character Addressable Memory

Which one of the following is nof used in
describing a monitor ?

(a) Band width
{b)  Resolution
(¢) Flexibility
(d)  Scan rate

Which one of the following is
characteristic of a computer ?

not a

{a)  Accuracy
(b) Speed

(¢}  Storage
(d) Rigidity

The storage capacity of a computer which can

store 22 words of 8 bit length is

(a) 1K memory
(b) 2 K memory
{c) 4K memory
(d) Data insufficient to calculate






















